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Answer E.
Question  2

The graph has the equation of the form 
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Answer B.

Question 3
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 are both not defined
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Answer C.


Question 4

The maximal implied domain of 
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Answer D.

Question 5 
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  so B. is true
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D.

[image: image26.wmf] 

 

1

2

z

+

z

(

)

=

1

2

x

+

y

i

(

)

+

x

-

y

i

(

)

(

)

=

x

=

R

e

z

(

)

  D. is true
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Answer E.

Question 6

Let  
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 is the point R  reflection in the real axis
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Answer A.

Question 7
 If  
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expanding gives 
[image: image39.wmf] 

 

z

2

-

2

a

z

+

a

2

+

b

2

(

)

=

0

s

o

b

=

-

2

a

a

n

d

c

=

a

2

+

b

2



C. is true,  
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Answer D.

Question 8

A. is false as it does not include the origin, all of B. C. D. and E are true they all give 
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Answer A.

Question 9
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Answer C.

Question  10
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However since an antiderivative is asked for , ignore the C answer  
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Answer D.


Question 11
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Answer A.

Question 12


[image: image52.wmf] 

 

V

=

p

y

2

d

x

a

b

ò

V

=

p

a

2

s

i

n

2

p

x

(

)

d

x

0

p

p

ò

V

=

p

a

2

2

1

-

c

o

s

2

p

x

(

)

(

)

d

x

0

p

p

ò

V

=

p

a

2

2

x

-

1

2

p

s

i

n

2

p

x

(

)

é

ë

ê

ù

û

ú

0

p

p

V

=

p

a

2

2

p

p

-

1

2

p

s

i

n

2

p

(

)

æ

è

ç

ö

ø

÷

-

0

-

s

i

n

0

(

)

(

)

é

ë

ê

ù

û

ú

A

=

p

2

a

2

2

p


Answer E.

Question 13
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Answer C.



Question  14
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Answer C.


Question 15
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Answer A.

Question 16

Using Euler’s method with 
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Or use TI-83 programs 

Answer D.

Question 17
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Answer C.


Question 18
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Answer B.


Question 19
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Answer D.
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Answer B.

Question 21
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Answer D.


Question 22

[image: image1.jpg]


[image: image95]
A.  is true 
[image: image96.wmf] 

 

 

%

a

.

%

c

=

0

  the vectors are perpendicular ( it is a square )

B.  is true  
[image: image97.wmf] 

 

%

a

=

%

c

the lengths are equal ( it is a square )

C. is true   
[image: image98.wmf] 

 

 

%

a

2

+

%

c

2

=

%

a

+

%

c

2

 Pythagorus’s Theorem on the diagonal 
[image: image99.wmf] 

 

O

B

u

r

u

u

=

%

a

+

%

c


D. is true 
[image: image100.wmf] 

 

 

%

a

.

%

a

+

%

c

(

)

%

a

%

a

+

%

c

=

2

2

   the angle between 
[image: image101.wmf] 

 

O

A

u

r

u

u

=

%

a

  and  
[image: image102.wmf] 

 

O

B

u

r

u

u

=

%

a

+

%

c

 is  450
    
[image: image103.wmf] 

 

 

c

o

s

4

5

0

(

)

=

O

A

u

r

u

u

.

O

B

u

r

u

u

O

A

u

r

u

u

O

B

u

r

u

u

=

2

2

=

%

a

.

%

a

+

%

c

(

)

%

a

%

a

+

%

c

  

E. is false, for vectors 
[image: image104.wmf] 

 

%

a

¹

%

c




Answer E.
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Answer A.


Question 24

A.
is true, the particle moves on a circle.
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B.
is true, the speed of the particle is constant. 
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C.
is true, 

the acceleration vector is in the opposite direction to the position vector. 
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D.
is true, the velocity vector is perpendicular to the position vector.
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E.
Is false,  the acceleration vector is not constant.

Answer E.

Question 25
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Answer B.
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Answer D.

Question 28
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Answer A.


Question 29
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Answer B.

Question 30

All of  A. B. C. and D. are incorrect, they all use constant acceleration formulae, when the acceleration is not constant  
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Answer E.

Question 1


[image: image125.wmf] 

 

y

=

A

x

s

i

n

3

x

(

)

   differentiating using the product rule gives
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Question 5

a.
Let T  be the tensions in the strings, by the symmetry both tension are equal. 


The reaction of the hook is the normal which is equal and opposite to the 
weight 
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For maximum viewing angle   
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differentiating using the quotient rule
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